
Nombres Relatifs (C)Remplissez l’espace vide.____ × 11 = 88 ____ × 12 = 72 10 × 9 = ____11 × 8 = ____ ____ × 6 = 72 ____ × 10 = 9088 ÷ ____ = 11 72 ÷ ____ = 12 90 ÷ ____ = 988 ÷ 11 = ____ ____ ÷ 12 = 6 90 ÷ 9 = ____
10 × ____ = 50 11 × 3 = ____ 4 × 11 = ________ × 10 = 50 3 × ____ = 33 11 × ____ = 4450 ÷ 10 = ____ 33 ÷ ____ = 3 ____ ÷ 4 = 1150 ÷ 5 = ____ 33 ÷ 3 = ____ ____ ÷ 11 = 4
2 × ____ = 20 9 × ____ = 72 3 × 11 = ________ × 2 = 20 8 × ____ = 72 11 × ____ = 33____ ÷ 2 = 10 72 ÷ 9 = ____ ____ ÷ 3 = 1120 ÷ ____ = 2 72 ÷ ____ = 9 33 ÷ 11 = ____

____ × 10 = 100 11 × ____ = 110 ____ × 5 = 1010 × 10 = ____ 10 × 11 = ____ 5 × ____ = 10____ ÷ 10 = 10 ____ ÷ 11 = 10 ____ ÷ 2 = 5100 ÷ ____ = 10 110 ÷ ____ = 11 ____ ÷ 5 = 2
3 × 7 = ____ ____ × 10 = 70 2 × 2 = ____7 × 3 = ____ 10 × ____ = 70 ____ × 2 = 421 ÷ 3 = ____ ____ ÷ 7 = 10 4 ÷ ____ = 221 ÷ ____ = 3 70 ÷ ____ = 7 4 ÷ ____ = 2

Mathslibres.com



Nombres Relatifs (C) RéponsesRemplissez l’espace vide.8 × 11 = 88 6 × 12 = 72 10 × 9 = 9011 × 8 = 88 12 × 6 = 72 9 × 10 = 9088 ÷ 8 = 11 72 ÷ 6 = 12 90 ÷ 10 = 988 ÷ 11 = 8 72 ÷ 12 = 6 90 ÷ 9 = 10
10 × 5 = 50 11 × 3 = 33 4 × 11 = 445 × 10 = 50 3 × 11 = 33 11 × 4 = 4450 ÷ 10 = 5 33 ÷ 11 = 3 44 ÷ 4 = 1150 ÷ 5 = 10 33 ÷ 3 = 11 44 ÷ 11 = 4
2 × 10 = 20 9 × 8 = 72 3 × 11 = 3310 × 2 = 20 8 × 9 = 72 11 × 3 = 3320 ÷ 2 = 10 72 ÷ 9 = 8 33 ÷ 3 = 1120 ÷ 10 = 2 72 ÷ 8 = 9 33 ÷ 11 = 3

10 × 10 = 100 11 × 10 = 110 2 × 5 = 1010 × 10 = 100 10 × 11 = 110 5 × 2 = 10100 ÷ 10 = 10 110 ÷ 11 = 10 10 ÷ 2 = 5100 ÷ 10 = 10 110 ÷ 10 = 11 10 ÷ 5 = 2
3 × 7 = 21 7 × 10 = 70 2 × 2 = 47 × 3 = 21 10 × 7 = 70 2 × 2 = 421 ÷ 3 = 7 70 ÷ 7 = 10 4 ÷ 2 = 221 ÷ 7 = 3 70 ÷ 10 = 7 4 ÷ 2 = 2
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